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Comprehension:

The following table shows the percentage (%) distribution of six different types of expenditure,
namely, Salary (S), Infrastructure (I), Transportation (T), Bonus (BO), Raw Material (R) and
Miscellaneous (M) of three companies A, B and C during a given year. Total expenditure of
company A, B and C are ¥ 80 lakh, ¥ 90 lakh and ¥ 75 lakh, respectively. Based on the data in the
table, answer the questions that follow :

Company-wise percentage (%) distribution of Expenditure

Type of Expenditure
P l — | s 1 T | BO | R M
A 24% 18% 15% 10% 14% 19%
B 27% 15% 14% 25% 9% 10%
(@) 21% 24% 16% 19% 8% 12%

SubQuestion No : 1

Q.1

(1) 122 lakh
(2) T 153 lakh
(3) T 16.4 lakh
(4) T 17.5 lakh

Options 1. 1
2.2
3.3
4.4

What is the average expenditure of the three companies on Infrastructure ?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827029714
878270117049
878270117050
878270117051
878270117052
Answered

2




Comprehension:

Company-wise percentage (%) distribution of Expenditure

Type of Expenditure
. l — = 1 T | BO | R M
A 24% 18% 15% 10% 14% 19%
B 27% 15% 14% 25% 9% 10%
(@) 21% 24% 16% 19% 8% 12%

0]
2
(3)
(4)
Options 1. 1
2.2
3.3

4.4

SubQuestion No : 2

Q.2 What is the difference between the expenditure of Company-A on salary and the expenditure of
Company-B on Raw Material ?

% 9.6 lakh

% 111 lakh
T 124 lakh
% 134 lakh

The following table shows the percentage (%) distribution of six different types of expenditure,
namely, Salary (S), Infrastructure (I), Transportation (T), Bonus (BO), Raw Material (R) and
Miscellaneous (M) of three companies A, B and C during a given year. Total expenditure of
company A, B and C are T 80 lakh, ¥ 90 lakh and ¥ 75 lakh, respectively. Based on the data in the
table, answer the questions that follow :

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827029712
878270117041
878270117042
878270117043
878270117044
Answered

2




Comprehension:

The following table shows the percentage (%) distribution of six different types of expenditure,
namely, Salary (S), Infrastructure (I), Transportation (T), Bonus (BO), Raw Material (R) and
Miscellaneous (M) of three companies A, B and C during a given year. Total expenditure of
company A, B and C are T 80 lakh, ¥ 90 lakh and ¥ 75 lakh, respectively. Based on the data in the
table, answer the questions that follow :

Company-wise percentage (%) distribution of Expenditure

Type of Expenditure
. l — = 1 T | BO | R M
A 24% 18% 15% 10% 14% 19%
B 27% 15% 14% 25% 9% 10%
(@) 21% 24% 16% 19% 8% 12%

SubQuestion No : 3

Q.3

Company A on Transportation.

65)
2
(3)
(4)
Options 1. 1
2.2
3.3

4.4

76.2%
96 %

125%
131%

The expenditure of Company C on salary is approximately

% of the expenditure of

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827029713
878270117045
878270117046
878270117047
878270117048
Answered

4




Comprehension:

The following table shows the percentage (%) distribution of six different types of expenditure,
namely, Salary (S), Infrastructure (I), Transportation (T), Bonus (BO), Raw Material (R) and
Miscellaneous (M) of three companies A, B and C during a given year. Total expenditure of
company A, B and C are T 80 lakh, ¥ 90 lakh and ¥ 75 lakh, respectively. Based on the data in the
table, answer the questions that follow :

Company-wise percentage (%) distribution of Expenditure

Type of Expenditure
. l — = 1 T | BO | R M
A 24% 18% 15% 10% 14% 19%
B 27% 15% 14% 25% 9% 10%
(@) 21% 24% 16% 19% 8% 12%

SubQuestion No : 4

Q4 e expenditure of Company C on Infrastructure is

of Company A on Bonus.
(1) 80
@ 100
@) 125
() 150
Options 1. 1
2.2
3.3

4.4

% more or less than the expenditure

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827029716
878270117057
878270117058
878270117059
878270117060
Answered

3




Comprehension:

The following table shows the percentage (%) distribution of six different types of expenditure,
namely, Salary (S), Infrastructure (I), Transportation (T), Bonus (BO), Raw Material (R) and
Miscellaneous (M) of three companies A, B and C during a given year. Total expenditure of
company A, B and C are T 80 lakh, ¥ 90 lakh and ¥ 75 lakh, respectively. Based on the data in the
table, answer the questions that follow :

Company-wise percentage (%) distribution of Expenditure

Type of Expenditure
. l — = 1 T | BO | R M
A 24% 18% 15% 10% 14% 19%
B 27% 15% 14% 25% 9% 10%
(@) 21% 24% 16% 19% 8% 12%

SubQuestion No : 5

Q.5  What is the ratio of the expenditure of Company A on Infrastructure to the expenditure of
Company B on Transportation ?

(1) 5:4
2) 6:
@ 7:
4) 8:
Options 1. 1
2.2
3.3

4.4

N oy

Question Type : MCQ
Question ID : 87827029715
Option 1 1D : 878270117053
Option 2 ID : 878270117054
Option 3 ID : 878270117055
Option 4 ID : 878270117056

Status : Answered

Chosen Option : 4

Q.6 Match List - I with List - IL

List - I List - II
(Cyber Attack) (Description)
(A) Spyware (I)  Sending an email to lure users to fake website to obtain their
personal details
(B)  Phishing (I) Downloading of malicious code to redirect users to fake website
to obtain their personal details
(C) Ransomware (IlI) Keylogger used to record key presses and sending them to third
patty
(D) Pharming (IV) Holding hostage a user’s data, often for a release fee

Choose the correct answer from the options given below :
(1) (A)-(m), (B)-(1), (Cr(IV), (D)-(IN)
(2 (M-I, (B)-I), (CHIV), (D)D)
(3)  (A)-(0), (B)-(IT), (C)H(IV), (D)-{IM)
() (A)-(Im), (B)-(1V), (Q)-(T), (D)-(1N)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827029746
Option 1 ID : 878270117177
Option 2 ID : 878270117178
Option 3 ID : 878270117179
Option 4 ID : 878270117180

Status : Answered

Chosen Option : 2




Q7 In a square of opposition of propositions which of the following is correct ?

(1) If Ais given as false; O is undetermined
(2) If Eis given as false; [ is false
(3) If Lis given as false; A is false
(4) If Ois given as false; E is true
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029739
Option 11D : 878270117149
Option 2 ID : 878270117150
Option 3 ID : 878270117151
Option 4 ID : 878270117152
Status : Answered
Chosen Option : 4
Q.8 Given below are two statements :
Statement (I) : Under the framework of communication, political socialisation is related to social
learning in terms of how power is acquired.
Statement (II) : Marginalisation is the basis of political socialisation.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029730
Option 11D : 878270117113
Option 2 ID : 878270117114
Option 3 ID : 878270117115
Option 4 ID : 878270117116
Status : Answered
Chosen Option : 2
Q9 A sum of money at simple rate of interest becomes Rs. 2016 in 4 years and Rs. 2286 in 9 years.
What is the principal amount ?
(1) T 1800
(2) T 1700
(3) T 1900
(4) T 1850
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029734
Option 1 ID : 878270117129
Option 2 ID : 878270117130
Option 3 ID : 878270117131
Option 4 ID : 878270117132
Status : Answered
Chosen Option : 1




Q.10

In a positively skewed distribution, which among the following would be true ?

(A) Mean > Mode
(B) Mode > Median
(C) Mean > Median
(D) Mode > Mean
(E) Median > Mean
Choose the correct answer from the options given below :
(1)  (B) and (D) Only
(2) (A)and (C) Only
(3) (A)and (B) Only
(4) (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029725
Option 1 ID : 878270117093
Option 2 ID : 878270117094
Option 3 ID : 878270117095
Option 4 ID : 878270117096
Status : Answered
Chosen Option : 4
Q.1 Which of the following pair of acronyms and its expansion are incorrectly matched ?
(1) LAN - Local Area Network
(2) MAN 2 Metropolitan Area Network
(3) WAN - Wide Area Network
(4) VPN - Virtual Personal Network
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029742
Option 1 ID : 878270117161
Option 2 ID : 878270117162
Option 3 ID : 878270117163
Option 4 ID : 878270117164
Status : Answered
Chosen Option : 4




Q12 Given below are two staterments :
Statement (I) : Swayamprabha courses are broadcasted on TV.
Statement (II) : Moocs are only available in English.

In the light of the above statements, choose the most appropriate answer from the options given
below :

O

2) Both Statement I and Statement II are incorrect
3)

Both Statement I and Statement II are correct

(
( Statement I is correct but Statement II is incorrect
(

4)  Statement I is incorrect but Statement 11 is correct

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029717
Option 1 ID : 878270117061
Option 2 ID : 878270117062
Option 3 ID : 878270117063
Option 4 ID : 878270117064
Status : Answered
Chosen Option : 3
Q.13 "
frfefEa @ o fo T Jehery Jasy |
"ot YT hITaRrT 21
[t RTSTRaEare] sifasprl o |
g fou 9sfi ersTshamETe! B9 91"
(A) =R €I qHe
(B) 31 Ufh= 1 ke
(C) wifaafta wea o1 wharm
(D) =adeh URA! Fl Teha™
= feu U fasredi § 9 9E 39T F 999 S
(1) == (A) 3R (B)
(2) = (B) 3R (C)
(3) = (O)
(4) FFE (C) #R (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029737
Option 1 ID : 878270117141
Option 2 ID : 878270117142
Option 3 ID : 878270117143
Option 4 ID : 878270117144
Status : Answered
Chosen Option : 4




Q.14

In a certain coding language :

(a) ‘tee see pee’ means ‘drink fruit juice’

(b) ’see kee lee’ means “juice is sweel’

() ‘lee ree mee’ means ‘he is intelligent’
Which word in this language means ‘sweet’ ?

(1) ’pee
(2) ‘kee’
(3) ‘lee
(4) ‘mee’
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029736
Option 1 ID : 878270117137
Option 2 ID : 878270117138
Option 3 ID : 878270117139
Option 4 ID : 878270117140
Status : Answered
Chosen Option : 2
Q15 Research suggests that a majority of students cheat at some points in their academic career. Which
one of the following is not a recommendation to reduce cheating in the classroom ?
(1)  Encourage collaboration with peers onassignments to provide necessary support and decrease
anxiety.
(2)  Reduce the focus on grades, and provide the material for students with which they must be
familiar.
3 Clear guidelines on what constitutes cheating accompanied by consequences that, when
) gui 8 P ¥ q
imposed, will deter other students due to their severity.
(4) Ensure students are well prepared for assignments and tests.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029719
Option 11D : 878270117069
Option 2 ID : 878270117070
Option 3 ID : 878270117071
Option 4 ID : 878270117072
Status : Answered
Chosen Option : 2




Q16 gatement (1) : 3D Printers are primarily used in CAD,
Statement (II) : OLEDs require some form of back-lighting so that the screen can be lit up.
In the light of the above statements, choose the most appropriate answer from the oplions given

below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029744
Option 1 ID : 878270117169
Option 2 ID : 878270117170
Option 3 ID : 878270117171
Option 4 ID : 878270117172
Status : Answered
Chosen Option : 2
Q17 A salesman travels from Delhi to Ambala at 30 km/h and returns at 90 km/h. If the total time
taken is 8 hours, find the total distance covered by him.
(1) 480 km
(2) 240 km
(3) 360 km
(4) 280 km
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029735
Option 1 ID : 878270117133
Option 2 ID : 878270117134
Option 3 ID : 878270117135
Option 4 ID : 878270117136
Status : Answered
Chosen Option : 1
Q.18 What is the limit of water availability for a region to be classified as water scarce region ?
(1) Less than 2500 m®/person/year
(2) Less than 2000 m?/ person/year
(3) Less than 1500 me/ person/year
(4)  Less than 1000 m?/person/year
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029751
Option 1 ID : 878270117197
Option 2 ID : 878270117198
Option 3 ID : 878270117199
Option 4 ID : 878270117200
Status : Answered
Chosen Option : 3




e fafeen fogm (vasiug.) foFas R e €2
(1) = =T SO/ &R0

(2) o il
(3) 999 H gfad S i 9
(4) &I G & H qaT H Bl
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029749
Option 1 ID : 878270117189
Option 2 ID : 878270117190
Option 3 ID : 878270117191
Option 4 ID : 878270117192
Status : Answered
Chosen Option : 3
Q.20 Given below are two statements :
Statement (I) : Media audiences are increasingly active in their communication with each other.
Statement (II) : Media audiences are also active in communication with creators of mass
communication contents.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029731
Option 1 ID : 878270117117
Option 2 ID : 878270117118
Option 3 ID : 878270117119
Option 4 ID : 878270117120
Status : Answered
Chosen Option : 1




Q21 what is the correct increasing order of Global Warming Potential (GWP) of following gases ?

(A) Nitrous Oxide (N,O)

(B) Carbon dioxide (CO,)

(C) Methane (CH,)

(D) Chlorofluoro Carbon (CFC)

Choose the correct answer from the options given below :

M (M), B), (O (D)

(2) (A (©), (B), (D)
(3)  (B). (A), (Q), (D)
4) (B, (Q), (A), (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029750
Option 11D : 878270117193
Option 2 ID : 878270117194
Option 3 ID : 878270117195
Option 4 ID : 878270117196
Status : Answered
Chosen Option : 4
Q.22 Government of India constituted a University Education Commission in November-1948 under
the Chairmanship of = =i
(1)  Dr. Lakshmanaswamy
(2) Shri Maulana Abul Kalam Azad
(3) Dr. Radhakrishnan
(4) Dr. Yash Pal
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029754
Option 1 1D : 878270117209
Option 2 ID : 878270117210
Option 3 ID : 878270117211
Option 4 ID : 878270117212
Status : Answered
Chosen Option : 3




Q23 Which of the following is incorrect in the light of Inductive Argument ?

(A) If the premises are true then the conclusion is probably true.

(B) The conclusion follows probably from the premises.

(C) Itis unlikely for the premises to be true and the conclusion false.

(D) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A) and (B) Only

() (8 and (C) Only

(3) (©) and (D) Only

(4) (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029741
Option 1 ID : 878270117157
Option 2 ID : 878270117158
Option 3 ID : 878270117159
Option 4 ID : 878270117160
Status : Answered
Chosen Option : 4
Q.24 Given below are two statements :
Statement (I) : According to NEP 2020, one of the verticals of Higher Education Commission of
India (HECI), General Education Council (GEC) will be responsible for
accreditation of Higher Education Institutions (HEISs)
Statement (II) : According to NEP 2020, through a suitable system of graded accreditation and
graded autonomy, and in a phased manner over a period of 15 years, all HEIs in
India will aim to become independent self-governing institutions.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029752
Option 11D : 878270117201
Option 2 ID : 878270117202
Option 3 ID : 878270117203
Option 4 ID : 878270117204
Status : Answered
Chosen Option : 2




Q.25 When individuals post journal-like entries on the Internet, they are known as :

(1) Advisory Columns
(2) Net Opinions
(3) Weblogs
(4) Digital Stories
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029727
Option 1 ID : 878270117101
Option 2 ID : 878270117102
Option 3 ID : 878270117103
Option 4 ID : 878270117104
Status : Answered
Chosen Option : 3
Q.26 ; v g . . i
An implicit message within a message is technically referred to as :
(1) Hidden Message
(2) Intrinsic Message
(3) Non-expressive Message
(4) Sub-text
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029728
Option 1 ID : 878270117105
Option 2 ID : 878270117106
Option 3 ID : 878270117107
Option 4 ID : 878270117108
Status : Answered
Chosen Option : 2
Q.27 A sesearcher computes sample correlation coefficients ry, ry, 3 and ry from four different samples
and obtains 0.97, 0.95, 0.10 and 0.03, respectively, as their p-values. The correlation coefficient
significant at 5% level is :
O =
@
(3) I3
(4) I,
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029726
Option 1 ID : 878270117097
Option 2 ID : 878270117098
Option 3 ID : 878270117099
Option 4 ID : 878270117100
Status : Answered
Chosen Option : 3




(]

Q28 e tendency of researchers to subtly and inadvertently affect the behaviours of participants in a
study, obscuring the true effect of the independent variable, refers to :

Hawthorne Effect

(2) Biosocial Effect
(3) Experimental Bias
(4) Participant Bias
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029723
Option 11D : 878270117085
Option 2 ID : 878270117086
Option 3 ID : 878270117087
Option 4 ID : 878270117088
Status : Answered
Chosen Option : 1
Q.29 Which of the following constitute the selectivity process in mass communication ?
(A) Selective suppression
(B) Selective attention
(C) Selective perception
(D) Selective retention
(E) Selective ignorance
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2)  (B), (C) and (D) Only
(3) (©), (D) and (E) Only
(4)  (A), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029729
Option 11D : 878270117109
Option 2 ID : 878270117110
Option 3 ID : 878270117111
Option 4 ID : 878270117112
Status : Answered
Chosen Option : 2




Q.30 Given below are two statements :

Statement (1) :

Adolescents tend to be highly self-aware and have a clear sense of their identity.

Statement (II) : Adolescents tend to develop ability to see relationships and to solve problems of

increasing complexity and difficulty.

In the light of the above statements, choose the most appropriate answer from the options given

below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029720
Option 1 ID : 878270117073
Option 2 ID : 878270117074
Option 3 ID : 878270117075
Option 4 ID : 878270117076
Status : Answered
Chosen Option : 2
Q.31 Which of the following statements relevant to the trends in modern information technology is/are
correct ?
(A) In traditional computing, data is represented in binary digits while in quantum computing,
data is represented in quantum bits or qubits.
(B) A wearable device capable of activity tracking that measures data such as the number of
steps walked and heart rate is an example of WiMAX.
(C) A collection of nodes capable of environmental sensing, local computation, and
communication with its peers or with other high performance nodes is called a Geographic
Information System (GIS).
Choose the correct answer from the options given below :
(1) (A) Only
(2)  (B) Only
(3) (A)and (C) Only
(4)  (B) and (C) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029745
Option 1 ID : 878270117173
Option 2 ID : 878270117174
Option 3 ID : 878270117175
Option 4 ID : 878270117176
Status : Answered
Chosen Option : 3




Q.32 In the preamble of the Indian Constitution which of the following value is not stated ?

(1)  Justice
(2) Equality
(3) Courage
(4) Liberty
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029753
Option 11D : 878270117205
Option 2 ID : 878270117206
Option 3 ID : 878270117207
Option 4 ID : 878270117208
Status : Answered
Chosen Option : 3
Q.33
-1 | -1 T e i
eI 11
( Sfares =moT) ( Feararror)
(A)  THTERE () o= 48 =61 1 ISwsRT 91 IR S 1 oerad 1o fea
(B) =9 (1) TS2R 36 ST o1 TIowsRH A7 1% T Aa 1 eI g TR
(Q) ¥= (1) o2 24 Sl =1 qremsEn 91 IS &1 561 T sremEd o feRe
o) (Iv) Sieria e
=9 feu T fasredi T 9 W& IW H T R
(1) (A)-(ID, (B)-(IV), (©)-(1), (D)-(IIT)
(2) (A, (B)-(I), (Cy-(10), (D)-(IV)
(3)  (A)1IV), (B)-(IID), (O)-(II), (D)-(I)
@) (A)(I), (B)-(IT), (C)-(IV), (D)-(IIT)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029755
Option 11D : 878270117213
Option 2 ID : 878270117214
Option 3 ID : 878270117215
Option 4 ID : 878270117216
Status : Answered
Chosen Option : 3




Q.34

Which of the following elements is fissile ?

Chosen Option :

(1) Thorium - 232
(2) Plutonium - 239
(3) Uranium - 237
(4) Uranium - 238
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029748
Option 11D : 878270117185
Option 2 1D : 878270117186
Option 3 ID : 878270117187
Option 4 ID : 878270117188
Status : Answered
Chosen Option : 3
Q35 Which of the following is a basic requirement for effective teaching ?
(1) Ignoring individual differences among students
(2) Adequate resources and technology
(3) Use of traditional teaching methods
(4) Rigid adherence to curriculum guidelines
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029721
Option 1 1D : 878270117077
Option 2 ID : 878270117078
Option 3 ID : 878270117079
Option 4 ID : 878270117080
Status : Answered

1




Q.36 Magch List - I with List - IL
List - I
(Types of Evaluation)

List - II
(Their Functions)

Placement Evaluation () To monitor the learning progress of students during the

course of instructions

To know the underlying cause of weaknesses in students’
learning

To know entry behaviour

Formative Evaluation

(1n

Summative Evaluation (IIL)

Diagnostic Evaluation (IV) To certify the learner at the end of a course or an academic

year or programme
Choose the correct answer from the options given below :
(1) (A, B, ©)-1, (D)
(2) (A0, (B)-(ID), (C)-(I), (D)-(IV)
(3)  (A)-(IV), (B)-(1), (C)-(TI), (D)-(IM)
() (A)-(Im), (B)-(T), (CR(IV), (D)-(IN)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029718
Option 11D : 878270117065
Option 2 ID : 878270117066
Option 3 ID : 878270117067
Option 4 ID : 878270117068
Status : Answered
Chosen Option : 4
Q37 the light of concept of “Terms” which of the following is incorrect ?
(A) The set of attributes shared by all and only those objects to which a general term refers is
called intension.
(B) Every general term has both an intensional and extensional meaning.
(C) The extension of a term determines its intension.
(D) Terms may have different intensions but have the same extension.
Choose the correct answer from the options given below :
(1)  (B) and (D) Only
@) (A)and (B) Only
(3) (B) Only
4)  (©) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029738
Option 1 ID : 878270117145
Option 2 ID : 878270117146
Option 3 ID : 878270117147
Option 4 ID : 878270117148
Status : Answered
Chosen Option : 1




Q.38 TR THETE o T g o e € S g o O o e 704 ¥ 1 TR 3 fAgm 55 e 99 g o

= fagm # 20 wex 5 W e ® 1 o= fasmn F gy 2 W # S 726 B W #1359 fagw =

T FG I
(1) 70 &fex
(2) 195 wex
(3) 130 wfiex
(4) 210 =X
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029733
Option 1 ID : 878270117125
Option 2 ID : 878270117126
Option 3 ID : 878270117127
Option 4 ID : 878270117128
Status : Answered
Chosen Option : 2
Q39 ) off vt 3 smior & s fovaferaer s % s & T Fretfafas & & foree @ o7
(1) @S wAT
(2) wE TS
(@) =HTE
(4) @i zeris
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029756
Option 11D : 878270117217
Option 2 ID : 878270117218
Option 3 ID : 878270117219
Option 4 ID : 878270117220
Status : Answered
Chosen Option : 2
Q.40 A research design in which either the investigator or the participant is not aware of the treatment
a participant is receiving, refers to :
(1) Single Blind Study
(2)  Half Blind Study
(3) Double Blind Study
(4) Longitudinal Study
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029724
Option 1 1D : 878270117089
Option 2 ID : 878270117090
Option 3 ID : 878270117091
Option 4 ID : 878270117092
Status : Answered
Chosen Option : 1




Q.41 If you want to understand the theoretical reasons that led researchers to conduct a study, you

would read which section of their article ?

(1)  Abstract
(2) Introduction
(3) Discussion
(4) Methodology
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029722
Option 11D : 878270117081
Option 2 ID : 878270117082
Option 3 ID : 878270117083
Option 4 ID : 878270117084
Status : Answered
Chosen Option : 2
Q42 |5 the context of Anumana (Inference), the presence of the middle term in the minor term is
called :
(1) Parimarsha
(2) Vyapt
(3) Paksadharmata
(4) Paksa
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029740
Option 1 ID : 878270117153
Option 2 ID : 878270117154
Option 3 ID : 878270117155
Option 4 ID : 878270117156
Status : Answered
Chosen Option : 2
Q43 gratement (1) :  (499),, = (111110011),
Statement (I) : (1011101), = (93),,
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029743
Option 1 ID : 878270117165
Option 2 ID : 878270117166
Option 3 ID : 878270117167
Option 4 ID : 878270117168
Status : Answered
Chosen Option : 2




Q.44

What number would replace question mark (?) in the series given below ?

31, 37, 41, 43, 47, 53, 7, 61

(1) 58
{2) 57
(3) 59
(4) 56
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029732
Option 11D : 878270117121
Option 2 ID : 878270117122
Option 3 ID : 878270117123
Option 4 ID : 878270117124
Status : Answered
Chosen Option : 3
Q.45 Which one of the following is an essential requirement for the formation of photochemical smog ?
(1) Water vapour
(2)  Sunlight
(3) High temperature
(4) Snow
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029747
Option 11D : 878270117181
Option 2 ID : 878270117182
Option 3 ID : 878270117183
Option 4 ID : 878270117184
Status : Answered
Chosen Option : 1




Comprehension:

Fererferfiara Terior st ufew it faw T woe 3 e A -

ARTETE Uk - TorERe € S T o ekl o G fas o 9 S T e e e &
F1 it daedl § fofr = fovereg wifter feu oM o1 stres faeg ool oi afeenstl % e e
SFHATAIEHT T A eI WU STEAES % Y9E W Ted ¥ WRY 2§ | Sfes S 9 W
Seera e 1 7 aefe € T # o qen ) qer # Hfvend o e ¥ | 5 ar fava w5 g
T 1 9T ¥ S 5 uiaem | FW Afeed Sw SeAt $iR wE 3w W, et e seEty 3 o0
wieeTa e Aferd I €, S $el 9 1 AE 10 Wiawe W w6 € | R i wene € wbite e
frreerean <2 e &, T el a1 60 wftera wfeemd & oiw |t wronfert =61 80 wioe wieemd &1 7 faga
T fofm o uR T Hee T T

forea =i Trita T ei-Has e 1 Seea T gAifaE W H A § 1 v e et
ST =TIfeeR Wit 3 SRR SR T S9N e © fermen gt nfeena % fau dengfage fuf e
A IS 2 F T8 o o wegd T S A § S qe i (Sunus) AR fave S g
SR Tt BTemTa T 1 e fo e ok g 3 srRiE fasrem 3§ wied 1 o ¥
e geeR &3 H o werdl 1 e R steafien wiad s, AT gde o werd sie afie s
A % IaTe & Tof it areferereen & faem & wn o 59 Afeensd o vivon S &1 e guei 9
el § wigensii @1 ariiei #t 5= <l ¥ are ot Sea eieifirs a1 fafie a9 f offre srrmeand
H g9 T S ¥ |

SubQuestion No : 46

** nfem sfem e i 2
(A) TR I gES § saferek TEAfe ¥
(B) 3 Y&l ¥ FW wiRafirer frew €
(C) 3 = uiigfoer T atfers ame aF H Fd 2 |
(D) & g&ul i gor § 9 e g
(B) Tk UrE G g Hifdd ¥
= fou U fosredl § | Wé& 39 1 99 Fife;
(1) %9 (A), (B) 3R (O)
(2) FIA (B) 3R (D)
(3) &= (B), (D) 3R (A)
(4) %9 (B), (C), (D) 3R (E)
Options 1. 1
-

Question Type : MCQ
Question ID : 87827029759
Option 1 ID : 878270117225
Option 2 ID : 878270117226
Option 3 ID : 878270117227
Option 4 ID : 878270117228

Status : Answered

Chosen Option : 4




Comprehension:

Fererferfiara Terior st ufew it faw T woe 3 e A -

ARTETE Uk - TorERe € S T o ekl o G fas o 9 S T e e e &
F1 it daedl § fofr = fovereg wifter feu oM o1 stres faeg ool oi afeenstl % e e
SFHATAIEHT T A eI WU STEAES % Y9E W Ted ¥ WRY 2§ | Sfes S 9 W
Seera e 1 7 aefe € T # o qen ) qer # Hfvend o e ¥ | 5 ar fava w5 g
T 1 9T ¥ S 5 uiaem | FW Afeed Sw SeAt $iR wE 3w W, et e seEty 3 o0
wieeTa e Aferd I €, S $el 9 1 AE 10 Wiawe W w6 € | R i wene € wbite e
frreerean <2 e &, T el a1 60 wftera wfeemd & oiw |t wronfert =61 80 wioe wieemd &1 7 faga
T o 3 MR T e T B

forea =i Trita T ei-Has e 1 Seea T gAifaE W H A § 1 v e et
ST Sfeder ToTierai o TR shi S 3N el & fsen gafa afeensi 3 fou sremgfayme fefs T
A IS 2 T T8 e o wgd T S A § S qe i (Suas) AR fave S gr
SR Tt BTemTa T 1 e fo e ok g 3 srRiE fasrem 3§ wied 1 o ¥
e geeR &3 H o werdl 1 e R steafien wiad s, AT gde o werd sie afie s
A % IaTe & Tof it areferereen & faem & wn o 59 Afeensd o vivon S &1 e guei 9
el § wigensii @1 ariiei #t 5= <l ¥ are ot Sea eieifirs a1 fafie a9 f offre srrmeand
H g9 T S ¥ |

SubQuestion No : 47

Q.47 "
Tfeeel =1 TR SFEETET AR SEuTe S T A S ©
(1) foerresier g9 §
(2) forerfua <o &
(3) Wlaga#
(4) sy sinfregs Trs |
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
87827029758
878270117221
878270117222
878270117223
878270117224
Answered

3




Comprehension:

Fererferfiara Terior st ufew it faw T woe 3 e A -

ARTETE Uk - TorERe € S T o ekl o G fas o 9 S T e e e &
F1 it daedl § fofr = fovereg wifter feu oM o1 stres faeg ool oi afeenstl % e e
ST qe Afves Terifa WU srEmEme ® u9E W 9ol ¥ uRy 2§ Sfvesw Hfew 9d w
Seera e 1 7 aefe € T # o qen ) qer # Hfvend o e ¥ | 5 ar fava w5 g
T 1 wfaer € @i 5 wiae & e Afeed seet Sredl @i el & 9 W E, S e st F 60
wieeTa e Aferd I €, S $el 9 1 AE 10 Wiawe W w6 € | R i wene € wbite e
frreerean <2 e &, T el a1 60 wftera wfeemd & oiw |t wronfert =61 80 wioe wieemd &1 7 faga
T o 3 MR T e T B

forea =i Trita T ei-Has e 1 Seea T gAifaE W H A § 1 v e et
ST e TOTier o TR ShT S SN e & TS gafa afeensi 3 o sremgfaume fef T
A IS 2 T T8 e o wgd T S A § S qe i (Suas) AR fave S gr
SR Tt BT T 1 e fa e ik o 3 srRi A 3§ wied e
e geeR &3 H o werdl 1 e R steafien wiad s, AT gde o werd sie afie s
A % IaTe & Tof it areferereen & faem & wn o 59 Afeensd o vivon S &1 e guei 9
el § wigensii @1 ariiei #t 5= <l ¥ are ot Sea eieifirs a1 fafie a9 f offre srrmeand
H g9 T S |

SubQuestion No : 48

U8 ot o FifeTT |
(A) =it wronfefai & 20 witer e ¥
(B) 5w ¥ %W Hiead S TSl 2R T 96l F 9 W e €
(C) Tt Frerdi =1 60 wfaer wfeems €1
(D) wfeenad = Fa FETEfy F 10 Yfawd F1 99 S@ L
(E) Y%6I Sl et 311 =1 90 Ffa9id 377 W 21 € |
e feu o foredi § | 9@ ST & =T Hifew
(1) FaE (A) 3R (B)
(2) %= (O), (D) ¥R (E)
(3) %aa (B) 3R (Q)
(4) e (A), (B), (C) 3R (E)
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
87827029760
878270117229
878270117230
878270117231
878270117232
Answered

4




Comprehension:

Fererferfiara Terior st ufew it faw T woe 3 e A -

ARTETE Uk - TorERe € S T o ekl o G fas o 9 S T e e e &
F1 it daedl § fofr = fovereg wifter feu oM o1 stres faeg ool oi afeenstl % e e
STHRTRIEAT T A TeiT T U STEHEE % IE W Ted ¥ URY 2 8| Sfvew S 18 W
Seera e 1 7 aefe € T # o qen ) qer # Hfvend o e ¥ | 5 ar fava w5 g
T 1 9T ¥ S 5 uiaem | FW Afeed Sw SeAt $iR wE 3w W, et e seEty 3 o0
wieeTa e Aferd I €, S $el 9 1 AE 10 Wiawe W w6 € | R i wene € wbite e
frreerean <2 e &, T el a1 60 wftera wfeemd & oiw |t wronfert =61 80 wioe wieemd &1 7 faga
T o 3 MR T e T B

forea =i Trita T ei-Has e 1 Seea T gAifaE W H A § 1 v e et
ST Seder TOTieri o TR shT ST SN el & Tt gafw feensii 3 o semgfames feufa T
A IS 2 F T8 o o wegd T S A § S qe i (Sunus) AR fave S g
SR Tt BTemTa T 1 e fo e ok g 3 srRiE fasrem 3§ wied 1 o ¥
e geeR &3 H o werdl 1 e R steafien wiad s, AT gde o werd sie afie s
A % IaTe & Tof it areferereen & faem & wn o 59 Afeensd o vivon S &1 e guei 9
el § wigensii @1 ariiei #t 5= <l ¥ are ot Sea eieifirs a1 fafie a9 f offre srrmeand
H g9 T S ¥ |

SubQuestion No : 49

Q49 ot referen £ 1 [T SR e i, SR e ai v st afven o i wfeensd
¥ T F IR E ?
(1) s sefereaen
(2)  eiifrertsra el i arederewend
(3) oo <o =it sreierawemd

(4) G ST

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

McQ
87827029761
878270117233
878270117234
878270117235
878270117236
Answered

1




Comprehension:

Fererferfiara Terior st ufew it faw T woe 3 e A -

ARTETE Uk - TorERe € S T o ekl o G fas o 9 S T e e e &
F1 it daedl § fofr = fovereg wifter feu oM o1 stres faeg ool oi afeenstl % e e
SFHATAIEHT T A eI WU STEAES % Y9E W Ted ¥ WRY 2§ | Sfes S 9 W
Seera e 1 7 aefe € T # o qen ) qer # Hfvend o e ¥ | 5 ar fava w5 g
T 1 9T ¥ S 5 uiaem | FW Afeed Sw SeAt $iR wE 3w W, et e seEty 3 o0
wieeTa e Aferd I €, S $el 9 1 AE 10 Wiawe W w6 € | R i wene € wbite e
frreerean <2 e &, T el a1 60 wftera wfeemd & oiw |t wronfert =61 80 wioe wieemd &1 7 faga
T o 3 MR T e T B

forea =i Trita T ei-Has e 1 Seea T gAifaE W H A § 1 v e et
ST Sfeder ToTierai o TR shi S 3N el & fsen gafa afeensi 3 fou sremgfayme fefs T
A IS 2 F T8 o o wegd T S A § S qe i (Sunus) AR fave S g
SR Tt BTemTa T 1 e fo e ok g 3 srRiE fasrem 3§ wied 1 o ¥
e geeR &3 H o werdl 1 e R steafien wiad s, AT gde o werd sie afie s
A % IaTe & Tof it areferereen & faem & wn o 59 Afeensd o vivon S &1 e guei 9
el § wigensii @1 ariiei #t 5= <l ¥ are ot Sea eieifirs a1 fafie a9 f offre srrmeand
H g9 T S ¥ |

SubQuestion No : 50

Q.50 F= & weA feu T €

wEA () : Sl Terifsk @ snfefer gonferdl w1 el gt wfeenedl & fou w semafaumsr ferf
a1 FA B

T (1) : 5B TS A § e qE w () s fave d% gr srEeh T
el forhmer Hifea =1 =em 1

ek LT el o M e B ) L et e e o e R o T L

(1) =R 1 97R e 1131 9 &

(2) RYT 1 3R HUT 1L T A T

(3) AT TH & WAl w11 20T &

(4) HUTI HEA 7, AR HATIL T T

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status
Chosen Option :

MmcaQ
87827029762
878270117237
878270117238
878270117239
878270117240

: Answered

1
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